H £ 0l & AF & S

Al A

SAFE A
=0 HEXc|
FCAH (ST A SESIH) (SH &)
SA - BB C(3) - NIRAIY - BAS A TmET
=E AR A 582,128 419,128 163,000
ot AKX 582,128 419,128 163,000
Ol A (ST AIH S LS H) 582,128 419,128 163,000
S3otx=E B2 582,128 419,128 163,000
201 Let2IH| 4,128 4,128 0
2 332g| 4,128 4,128 0
Odtx=ZAE2 DIMLUS 2ES
430280021+ 128 4,128
202 0441 6,000 3,000 3,000
01 ZLHHI 6,000 3,000 3,000
Odt=2te =4 Y B2 =X 6,000
207 AR 12,000 12,000
01 HAESY| 12,000 12,000
Odt=& 2t 849 12,000
401 Al HIL20HH| 560,000 400,000 160,000
01 Al&HI 560,000 400,000 160,000
Odt=xelAlE e & THAHCHE| 2284 200,000
Odle2tz =8 B 200,000
OF &Gt RS OtAZHM LIS A 100,000
Ot e 7Y 284 &4 60,000




